8 [ s
= : 8
S I e}
e 5107t
5 © 10
1072
1072
.9107%_....|....|....|....|....|.... .9107%_....|....!....!....!....!....
: R R R
€ il < il
T [II T|I'ITIIIﬂIITTIﬂﬂHITIIHIIIIITITIHIITTT””T]'[‘* T |||TII;Tmn|1|m|mnn;lmnnn;ﬂlmml;ll||I
0953 == 0 T2 3 0953 = =1 0 T2 3
A to beamline) TP n (PCA to beamline)
efau t_specPlLess]l
efault_specPLess2
e;au t“specPLess3
efault_specPLess4
=) £
2 e
2 -
> o
3 e}

8 i) 5
T : : T r :
@ 1h\|IlluHulllUluuuuuuluummIII1|11111111|| e F “ Illllll|1L|1u|1uuuuuu|ullllllllll ||
[T TTHHITTTIIIIHTITIIITIIIIIIIH”HIIIIIIII” T | |’[|nﬂ|{|ITI||T||||||||I||||rrn|mm|| ”
093 =T 0 1 2 3 0923 T 12 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ Yy
2
D_l—
o
B
107"
1072
o J..u;:_"
LR Y A S S A A
@ H Lt E e e |
L T'Iﬂ;lllﬂﬂ‘[llilml||||r:|||||||m:|n||‘|'n||illllr]'
093 T 0 Tz 3

TP n (PCA to beamline)
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